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b COD (i)

EEs<En BEEERAA = 11 3 i3 2 3
KiEi% B | =5 B & % TohEl 1 B & ¥ 7548
EEE0) 2l EihsE A 1.7 4,6 = 67| 2.2 1.3 6.6 = 1.4
Rilgih ok A 1.8 5,/ 6 = 83 2.0 1.3 6.6 = 1.5
EEEQ2) X a8tk A 1.6 6.6 = 1.9 1.3 6.6 = 1.3
BHAGhE A 1.7 4,6 = 2.1 1.4 6.6 = 1.6
E E Z LRk A 1.6 3/ 5 = 2.1 1.7 4,5 = 2.4
Bigithk A 1.5 6.6 = 1.7 2.2 4,5 = 2.8
FHIGEAR B 2.6 11712 = 2.8 2.7 912 = 2.9
Bl 2 & |hREf B 2.2 1M1 /712 = 2.4 2.3 1M1 /712 = 2.4
&Rk B 2.2 11712 = 2.7 2.1 1M1 /712 = 2.3
FEHEES A 1.5 4/ 4 = 1.8 1.3 4/ 4 = 1.3
= B B [(ERGH A 1.4 3/ 4 = 1.4 1.1 4/ 4 = 1.2
BiGh A 1.0 4/ 4 = 1.1 1.1 4/ 4 = 0.9
WsmE WEsaNbG A 1.4 4/ 4 = 1.4 1.1 4/ 4 = 1.2
AERZEH A 1.3 4/ 4 = 1.4 1.2 4/ 4 = 1.3
AERL ABOER A 1.6 10712 = 1.8 1.9 512 = 2.3
ZEER Al20 ] 612 = 22| 21 | 612 = 2.5
c LEF (GEE)
TAE 05 C [0 | Tm 10 2 I 7 3 12 3
kigi % il I35 RS E35) RS
FAIN- ¥ E 0.36|] 276 = 0. 31 1/ 6 =
BEZ(7) |WiSHhE 0.50 1/ 6 = 0.36] 3.6 =
E 0.43] 3712 = 0.34| 4712 =
FoXagihk 0.37] 276 = 0.43| 2./ 6 =
ERZE(«1) |[BRABME 0.35| 376 = 0.36] 3.6 =
E 0.36] 5712 = 040 5712 =
LR 0.53] 25 = 0.22| 5/ 6 =
E & Z |Bigihix 0.53] 276 = 0.38] 4./ 6 =
E 0.53| 4. 11 = 0.30] 9712 =
FHIGEAR 0.60] 0.~ 6 = 0. 51 1/ 6 =
] 2 & |hRE 0.40 1/ 6 = 0. 31 4./ 6 =
&Rk 0.34| 176 = 0.33] 2./ 6 =
E 0.45|] 218 = 0.38] 718 =
ABOE 0.31 3/ 6 = 0.27] 3./ 6 =
AERL [BRH 0.56] 1.6 = 0.40] 4,6 =
£33 044 412 = 034 T 12 =
d £t (Gas)
&@%?Eﬁégﬁﬁﬁﬁ 7 3 12 3
kigi % il I35 RS E35) RS
FAIN- ¥ F 0.023] 5 7 6 = 0.022] 6 6 =
BEZ(7) |WiSHhE 0.024] 5/ 6 = 0.023| 5 7 6 =
E 0.024| 10 ~ 12 = 0.023] 11 ~ 12 =
FoXagihk 0.018] 6 .~ 6 = 0.018] 6 .~ 6 =
gERZEZ(«1) |(BRABMmE 0.018] 6 .~ 6 = 0.019] 4 6 =
E 0.018] 12 ~ 12 = 0.019] 10 ~ 12 =
LR 0.016] 5 .7 b = 0.015| 6 6 =
E & Z |Bigihik 0.018] 6 .~ 6 = 0.016] 6 6 =
E 0.017] 11 ~ 11 = 0.016|] 12 ~ 12 =
FHIGRAR 0. 048 1/ 6 = 0.045| 2 6 =
Bl 2 & |hRE 0.034] 3/ 6 = 0.021 5/ 6 =
&R Hh 0.027] 4 6 = 0.023| 5 7 b =
E 0.036] 8.7 18 = 0.030| 12 ~ 18 =
AEOE 0.022| 5. 6 = 0.016] 6 .~ 6 =
AERL ZHRER 0.022] 6 6 = 0.025| 5 6 =
Ei 0022 11~ 12 = 0021 11~ 12 =
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e M [Bao .6 | 1208|0907 0908|009 |10|09|16|1.2]1.4]|14]|13
PUN:L AM [Bao .0 |07 07|09 |08 0607|0913 |10]|08]08]07]08]|09
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i An |®s1 .4 |19 | 1.4 |18|20|20]20]|20|26 2221|1417 |19 |18
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A1 e M |®7 - - - [(0.8) | (0.5) | (0.6) | (0.9) |(0.8) |(1.3) [(1.1) | 2.0 | 1.5 | 1.3 | 1.6 | 1.8
N:N AN:: L M |[®7 (2.3) [(2.3) | 1.5) [ (1.5) | (1.2) | (1.3) | (0.9) |(1.4) [(2.9) |(2.0)| 2.7 | 1.6 | 1.6 | 2.3 | 1.7
2 /DR M |[®7 - - - (3.2 | (1.4 | .5 [(1.3) | (1.9 |(2.3) [(2.2) | 2.2 | 1.6 | 1.4 | 1.7 | 2.0
)] AR M |[®7 (1.0) | 0.8) [ (0.7) [ (1.0) [ (0.8) [ (0.7) [(0.9) [(0.8) |(1.1) |(1.0)| 1.0 | 0.8 | 0.7 | 0.7 | 0.8
Ll Rt M |[®7 1.3) | 1.2 |19 |@D €0 |[@D |18 || 02|06 23| 15|19 |28]| 14
)l BIR M |®7 - - - - - - - - - - | 1.3 | 13|17 ]|31]|13
el AR M |®7 2.7) [(3.9) | 0.9) [ (2.0) | (1.2) | (1.6) | (1.5) [ (1.1) [(1.B) |[(21)]| 0.9 | 1.4 | 1.0 | 1.8 | 1.7
52| B8 M [®7 - - - - — — — — — — | L2]07]08 12|12
KE/I ROM® Auw |®7 (2.2) | 2.5 (1.6 |(26) |4 22 ]|€D|2)|C0|QN]| 20 | 17|17 |16 | L7
=) )i M |[®7 (3.3) | (2.2) [(0.9) [(1.2) [(2.6) |[(1.7) |[(1.6) [(2.0) |(2.2) |(2.3) | 1.7 | 2.6 | 2.2 | 2.7 | 3.2
il FIiw M |®7 - - - = - - - - - - | 1.1 | 14|19 |13 |24
2l [t AN [®7 (2.1) | 1.7 | (0.8) [(0.6) | (1.4) |(1.5) |(2.5) |[(2.1) |(1.0) |(25)| 1.3 | 1.5 | 2.8 | 1.4 | 2.9
(#) 1 BODDOKE (15%1E) T3,

2 MEENT IR, BEEELERL TRV TT,
3 KIREORBEEROFMIT. ABRNOREEBEBANLTERLLEEE. ERELTVET,
4 FBEFEOA . R RONONEIUTOLBY TF,

A ABREARERRICS O TELIZER

B ARERRNRE R RS RS L T 5 LI T H RIBRC AN RERR
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b ¥ (COD) (Bfr mg/1)

RS TITY |REREmEL |[TRE|RE <3 B ®r b ( F 3 )
KR4 BRI EE| 6l 62 63 T 2 3 4 5 6 7 8 9 10 11 12
ERE (1) AL EHY [ABE49) 2.2 | 2.4 | 2.1 | 2.7 | 2.7 | 2.5 | 2.5 | 26 | 2.0 | 2.0 | 2.4 | 2.3 | 1.5 | 2.2 | 1.4
gL An[BH49] 2.0 | 3.0 | 2.1 | 2.8 | 2.9 [ 3.0 | 2.3 | 2.7 | 2.4 | 2.0 | 1.9 | 2.3 | 1.7 | 2.0 | 15
RERE (2) ¥oXa LA (BE49) 1.7 | 2.3 | 1.0 | 1.8 | 20 [ 20 | 2.1 | 1.7 | 1.5 | 21 | 1.6 | 2.0 | 1.8 | 1.9 | 1.3
B EHEMSE A |BE49] 1.4 | 2.5 | 1.7 | 2.1 | 2.1 | 2.1 | 2.6 | 2.1 1.9 | 1.7 | 1.9 | 2.0 | 1.6 | 2.1 1.6
R TLR#SE Avcpgsl) 1.6 | 1.4 | 1.4 | 1.8 | 1.3 | 1.1 | 1.4 | 1.6 | 1.2 | 1.2 | 1.3 | 1.4 | 1.6 | 2.1 | 2.4
Bk Auv|fgsl| 2.6 | 2.0 | 1.9 | 1.7 | 1.3 [ 1.5 | 1.8 | 1.9 | 1.6 | 1.3 | 1.6 | 1.6 | 1.7 | 1.7 | 2.8
R Bk 3fE B A AR | B ~|BE51] 3.2 | 3.5 | 3.4 | 3.1 | 3.3 | 3.1 [ 32 | 25 | 29 |25 | 25 | 2.6 | 3.0 | 2.8 | 2.9
PRI B|BgE51) 3.0 | 3.4 | 3.4 | 3.0 | 25 | 2.7 | 2.7 | 25 | 25 | 2.1 | 25 | 2.4 | 3.1 | 2.4 | 2.4
LS B[ME51) 2.9 | 2.9 | 3.1 [ 3.1 |30 |28 |26 | 21| 23| 21|22 23|27/ 27| 23
Esg 3 RHEE A|fg51) 1.3 | 1.3 | 1.5 | 1.2 | 0.8 | 1.0 | 1.3 | 1.2 | 1.4 | 1.0 | 1.0 | 1.5 | 1.5 | 1.8 | 1.3
¥ RS Af|BE51) 1.2 | 1.2 | 1.4 [ 1.2 [ 1.0 | 09 | 1.1 | 1.0 | 1.2 | 0.7 | 1.1 | 1.4 | 1.4 | 1.4 | 1.2
K& AA|Pg51] 1.1 | 0.9 | 0.9 | 0.8 | 0.8 | 0.7 | 1.0 | 1.2 | 1.5 | 0.8 | 0.8 | 1.0 | 1.4 | 1.1 | 0.9
=230 PrE)I v AA|#g51] 0.8 | 1.3 | 1.0 | 0.7 | 0.9 | 0.6 | 1.0 | 0.9 | 1.4 | 0.8 | 0.9 | 1.0 | 1.1 | 1.4 | 1.2
AEIREW A1 |BE51] 1.1 1.4 | 1.1 | 0.6 | 1.2 | 0.7 | 1.0 | 1.0 | 1.1 .0 | 1.0 [ 0.9 | 1.3 | 1.4 | 1.3
A SEIRE feis:i Av|#g51| 1.7 | 2.4 | 2.7 | 2.3 | 1.8 | 2.3 | 3.0 | 2.2 | 1.9 | 3.1 | 2.2 | 2.7 | 1.9 | 1.8 | 2.3
75 L An[gsi] 2.3 | 2.9 | 3.1 | 2.3 [ 20 | 2.9 [ 3.3 [ 2.6 | 256 | 40 [ 2.2 [ 3.1 | 2.4 | 2.2 | 2.5

() 1 CODDOKE (15%fH) TI,
2 fAEhTIT. BEAEZERLTOARVBDTT,
3 AKBREOREELEOFHMIL, KRNOREEEINELTERLEHE, BRELTWVET,
4 BEEHOA, e RONOAFIRLUFOLBY TF,
A ASEERRER RISV TE BITER
7 AIRIEBR B R A HIBE LT 5 LN TH KBRS ER
N REBIERRER RN LEE LTS EEB X A THRAERIICER

(Z2ZEF) (4 mg/1)
)

RS TITe |BEREmAL | TRE|RE <3 B ®r b ( F 3

Kig4 BRI EE| 6l 62 63 JT 2 3 4 5 6 7 8 9 10 11 12
ERE (T) AL 1.4 | 0.95 | 0.44 | 0.56 | 0.48 | 0.38 | 0.30 | 0.27 | 0.44 | 0.39 | 0.55 | 0.40 | 0.44 | 0.36 | 0.31
155 Hh S O [¥7]|0.93 | 0.67 | 046 | 0.56 | 0.48 | 0.34 | 0.21 | 0.46 | 0.50 | 0.76 | 0.53 | 0.36 | 0.31 | 0.50 | 0.36
SEB 1.2 [ 0.81 | 0.45 | 0.56 | 0.48 | 0.36 | 0.26 | 0.37 | 0.47 | 0.58 | 0.54 | 0.38 | 0.38 | 0.43 | 0.34
ERE (1) ¥U¥a AL 0.48 | 0.62 | 0.32 | 0.37 | 0.28 | 0.29 | 0.22 | 0.30 | 0.42 | 0.46 | 0.39 | 0.30 | 0.29 | 0.37 | 0.43
FE A MSE | T | 7] 0.93 | 0.74 | 0.35 | 0.41 | 0.31 | 0.29 | 0.18 | 0.24 | 0.39 | 0.37 | 0.49 | 0.28 | 0.27 | 0.35 | 0.36
EB 0.71 [ 0.68 | 0.34 | 0.39 | 0.30 | 0.29 | 0.20 | 0.27 [ 0.41 | 0.42 [ 0.44 | 0.29 | 0.28 | 0.36 | 0.40
R LBl 5 0.55 | 0.69 | 0.16 | 0.23 | 0.19 [ 0.18 [ 0.22 [ 0.19 [ 0.23 [ 0.25 | 0.26 | 0.21 [ 0.35 | 0.53 | 0.22
B e O [¥7]|0.43 | 079|021 | 03202 ]028 | 0.22]034]033]0.37]025]0.29 | 0.73 | 0.53 | 0.38
EB 0.49 | 0.74 | 0.19 | 0.28 | 0.21 | 0.23 | 0.22 [ 0.27 [ 0.28 | 0.31 | 0.26 | 0.25 | 0.54 | 0.53 | 0.30
R B g FH)I[FHEAR 0.98 ] 0.77 | 0.54 [ 0.63 | 0.76 | 0.43 [ 0.44 [ 0.49 | 0.48 [ 0.56 | 0.38 | 0.45 | 0.57 | 0.60 | 0.51
S O [¥7| 068 | 073|041 | 050|047 |03 034036035 0.39]0.34]|0.37|0.47 | 0.40 | 0.31
L S 0.69 | 0.57 | 0.41 | 0.52 | 0.39 | 0.37 | 0.32 | 0.34 | 0.81 | 0.43 | 0.33 | 0.29 | 0.45 | 0.34 | 0.33
EB 0.78 | 0.69 | 0.45 | 0.55 | 0.54 | 0.39 | 0.37 | 0.40 | 0.55 | 0.46 | 0.35 | 0.37 | 0.50 | 0.45 | 0.38
AR BE 1.2 | 0.37 [ 037 [ 0.30 | 0.28 [ 0.32 [ 0.45 | 0.34 [ 0.28 [ 0.37 [ 0.37 [ 0.32 | 0.34 | 0.31 | 0.27
R O [¥7| 0.8 | 0.55 | 0.44 | 0.28 | 0.33 | 0.36 | 0.32 | 0.38 | 0.45 | 0.45 | 0.40 | 0.40 | 0.63 | 0.56 | 0.40
E B 1.0 [ 0.46 | 0.41 [ 0.29 [ 0.31 | 0.3¢ [ 0.39 [ 0.36 | 0.37 [ 0.41 | 0.39 | 0.36 | 0.49 | 0.44 | 0.34
(&8 (i mg/1)

RS TITe |BEREmAL | TRE|RE <3 B ®r b ( F 3 )
Kig4 BRI EE| 6l 62 63 JT 2 3 4 5 6 7 8 9 10 11 12
ERE (T) (LB 0.038[0.039[0.018]0.028]0.035]0.011[0.016 ] 0.016 | 0.020 [ 0.025 | 0.022 [ 0.029 | 0.034 [ 0.023 | 0. 022
5 b O [FF7]0.028|0.041]0.015]0.020 | 0.025|0.011 | 0.015 | 0.017 | 0.019 | 0.013 | 0.018 | 0.025 | 0.020 | 0. 024 | 0. 023
B 0.033 [ 0.040 [ 0.017 | 0.024 [ 0.030 [ 0.011 | 0.016 [ 0.017 [ 0.020 | 0.019 [ 0.020 [ 0.027 | 0.027 | 0. 024 | 0. 023
ERE (1) ¥ ¥ 3 AL 0.022]0.028]0.012]0.059]0.019]0.019[0.016 [ 0.018 [ 0.011 | 0.013 [ 0.013 | 0.016 | 0.019 | 0.018 | 0.018
FAHEME | O |F7(0.035]0.033]0.015]0.022 | 0.018 [ 0.011 | 0.011 | 0.025 | 0.019 | 0.014 | 0.014 | 0.022 | 0.019 | 0.018 | 0.019
SE B 0.029 [ 0.031 [0.014 | 0.041 [ 0.018 [ 0.015 | 0.014 [ 0.022 [ 0.015 | 0.014 [ 0.014 [0.019 | 0.019 | 0.018 [ 0.019
ETERYE LR 5 0.023 [ 0.024 [ 0.021{0.017 [ 0.014 | 0.008 [ 0.022 [ 0.013 | 0.011 | 0.005 | 0.021 | 0.014 | 0.013 [ 0.016 | 0. 015
B e O [F£7]0.110 | 0.050|0.016 | 0.020 | 0.014 | 0.009 | 0.010 | 0.019 | 0.010 | 0.005 | 0.010 | 0.016 | 0.019 | 0.018 | 0.016
B 0.067 [ 0.037 [0.019 | 0.019 | 0.014 [ 0.009 | 0.016 [ 0.016 [ 0.011 | 0.005 [ 0.016 [ 0.015 | 0. 016 | 0. 017 | 0.016
Bk FH)I[FALR 0.064 | 0.10 | 0.027]0.060 | 0.15 | 0.022 | 0.045 [ 0.040 | 0.034 | 0.032 | 0.030 | 0.041 | 0.046 | 0.048 | 0. 045
PRI O |F7]0.062|0.059 | 0.034 | 0.040 | 0.070 | 0.019 | 0.049 | 0.034 | 0.028 | 0.023 | 0.022 | 0.034 | 0.033 | 0.034 | 0.021
L 0.047 | 0.058 | 0.024 | 0.036 | 0.070 | 0.019 | 0.025 | 0.033 | 0.035 | 0.028 | 0.021 | 0.029 | 0.030 | 0.027 | 0. 023
SE B 0.058 [ 0.072 [ 0.028 | 0.045 | 0.097 [ 0.020 | 0.040 [ 0.036 [ 0.032 | 0.028 [ 0.024 [ 0.035 | 0.036 | 0.036 | 0. 030
NEIRTE A=t 0.029 [ 0.027 [ 0.022 ] 0.018 ] 0.016 | 0.028 [ 0.028 [ 0.030 | 0.012{ 0.018 | 0.017 | 0.022 | 0.020 | 0. 022 | 0. 016
R O [F£7]0.035|0.030]0.015 | 0.022 | 0.027 | 0.014 | 0.024 | 0.041 | 0.017 | 0.022 | 0.026 | 0.027 | 0.034 | 0.022 | 0. 025
E_B 0.032 [ 0.029 [0.019 [ 0.020 | 0.022 [ 0.021 | 0.026 [ 0.036 [ 0.015 | 0.020 [ 0.022 [ 0.025 | 0.027 | 0. 022 [ 0.021

(8 1 FHRICRT ERBAEOFEM THETT,
2 TR, REAELZZRLTORVSDTY,
3 KIRBOREEEOFHMIT, KRATFHENLEFR, SHLITERLEHE, BRELTVWET,
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